Multi-digit Subtraction

Ainswer Key

Line up the digits vertically and find the difference.

1) 8,005,424 - 1,796,738

8,005,424
-1,796,738

6,208,686

3) 78,809 - 54,169

78,809
- 54,169

24,640

5) 542,205 - 234,390

542,205
- 234,390

307,815

7) 4,658,274 - 856,710

4,658,274
- 856,710

3,801,564

2) 651,342 - 93,581

651,342
- 93,581

557,761

4) 2,213,000 - 428,573

2,213,000
- 428,573

1,784,427

6) 3,190,625 - 69,857

3,190,625
- 69,857

3,120,768

8) 94,618 - 37,269

94,618
- 37,269

57,349
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